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(A) BB L5 11 A100kN/ mZE 22 2 KI5 DIBEND 1 DB AEKN/m) (E) B A ImEIB R BRILDHTED 7 DB ATEKN/m) 2 ITHXERARUZENISHIBREEZHT S s ESe
z 3 mEiBz 5K BAE m EMNIMZBZLX & BXIE m S S -4 -l U SEami - —
B) AP LHEEWIERT HBED T AZEDES(m) (F) (B 4R RS BB ) L% DB &(m) %ﬁ?gﬁ%ﬁ_égfﬁi‘ﬂ?t%%if_ﬁ@ mﬂ T 7E #b HEN S XE/NE
(C) BB & B HAT00kN/mM LT DR DI END 11 D& KIEKN/ ) (G) HEEH MU T ORIFDHFED S OBEKEKN/m) BAM2/d e rHMI,-.:_ =R Pri-lm A1
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(A) (B) (©) (D) (E) (F) (@) (H) (A) (B) (©) (D) (E) (F) (G) (H)
(1) 1436 1.0 995 10 - - 14.2 28 1436 10 97.3 1.0 - - 142 28
( 2) 144.4 1.0 995 10 - - 14.4 29 144.4 10 96.3 1.0 - - 14.4 29
( 3) 146.8 1.0 99.4 10 - - 14.9 30 146.8 10 96.4 1.0 - - 149 30
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